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Problems 1-9: True or False: Circle the correct answer 

1) True or False: The Addition Property of Equality states that for all real numbers 

𝑎, 𝑏, and 𝑐, if 𝑎 = 𝑏, then 𝑎 + 𝑐 ≠ 𝑏 + 𝑐. 

2) True or False: In the order of operations the acronym for the order is PEMDAS. 

3) True or False: You do not need to isolate the variable to solve any equation. 

4) True or False: When you have variables on both sides of the equal sign in order to solve 

the equation you need to get the variable on one side of the equal sign. 

5) True or False: There are 5 steps that we went over to solve word problems. 

6) True or False: The rate is the same thing as the unit rate. 

7) True or False: After using the cross product for solving proportions solving the equation 

is just like what we have been doing. 

8) True or False: Percentage means out of 100. 

9) True or False: A literal equation is an equation that has only 1 variable. 

Problems 10-27: Solve the equation or proportion 

10) −
௩

଻
= −7 

a. 𝑣 = 49 

11) −11𝑝 = −8 

a. 𝑝 =
଼

ଵଵ
 

12) −8𝑞 + 3 = −29 

a. −8𝑞 = −32 

b. 𝑞 = 4 

 

13) 5𝑥 − 3 = 7 

a. 5𝑥 = 10 

b. 𝑥 = 2 

14) 3(𝑥 − 5) = 9 

a. 3𝑥 − 15 = 9 

b. 3𝑥 = 24 

c. 𝑥 = 8 
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15) −3(3𝑟 + 4) = −24 

a. −9𝑟 − 12 = −24 

b. −9𝑟 = −12 

c. 𝑟 =
ଵଶ

ଽ
=

ସ

ଷ
 

16) 5 − (8𝑣 + 5) = −4(1 + 3𝑣) 

a. 5 − 8𝑣 − 5 = −4 − 12𝑣 

b. −8𝑣 = −4 − 12𝑣 

c. 4𝑣 = −4 

d. 𝑣 = −1 

17) 3(𝑎 − 6) = −5𝑎 − (7 + 3𝑎) 

a. 3𝑎 − 18 = −5𝑎 − 7 − 3𝑎 

b. 3𝑎 − 18 = −8𝑎 − 7 

c. 11𝑎 − 18 = −7 

d. 11𝑎 = 11 

e. 𝑎 = 1 

18) Which has the best unit rate? 

McDonald’s: 40 fries for $1.20 

Wendy’s: 35 fries for $1.40     

Burger King: 65 fries for $1.30 

a. McDonald’s: 
$ଵ.ଶ଴

ସ଴ ௙௥௜௘௦
= 

$0.03/fry 

b. Wendy’s: 
$ଵ.ସ଴

ଷହ ௙௥௜௘௦
= $0.04/fry 

c. Burger King: 
$ଵ.ଷ଴

଺ହ ௙௥௜௘௦
= 

$0.02/fry 

d. The best unit rate is Burger 

King 

19) Which has the best unit rate?      

Store A: $3 for 12 markers         

Store B: $4 for 20 markers         

Store C: $6 for 40 markers 

a. Store A: 
$ଷ

ଵଶ ௠௔௥௞௘௥௦
=

 $0.25/marker 

b. Store B: 
$ସ

ଶ଴ ௠௔௥௞௘௥௦
=

 $0.20/marker 

c. Store C: 
$଺

ସ଴ ௠௔௥௞௘௥௦
=

 $0.15/marker 

d. Store C has the best unit rate 

for markers 

20) 
௡ି଺

௡ି଻
=

ଽ

ଶ
 

a. 2(𝑛 − 6) = 9(𝑛 − 7) 

b. 2𝑛 − 12 = 9𝑛 − 63 

c. 2𝑛 + 51 = 9𝑛 

d. 51 = 7𝑛 

e. 𝑛 =
ହଵ

଻
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21) 
଻

௕ାହ
=

ଵ଴

ହ
 

a. 35 = 10(𝑏 + 5) 

b. 35 = 10𝑏 + 50 

c. −15 = 10𝑏 

d. 𝑏 = −
ଵହ

ଵ଴
= −

ଷ

ଶ
 

22) 102 is what percentage of 102? 

a. 
ଵ଴ଶ

ଵ଴ଶ
=

௫

ଵ଴଴
 

b. 10200 = 102𝑥 

c. 𝑥 = 100 

23) What is 13% of 34 

a. 
௬

ଷସ
=

ଵଷ

ଵ଴଴
 

b. 100𝑦 = 442 

c. 𝑦 = 4.42 

24) 𝑧 = 𝑏 +
௠

௔
, for 𝑎 

a. 𝑧 − 𝑏 =
௠

௔
 

b. 𝑎(𝑧 − 𝑏) = 𝑚 

c. 𝑎 =
௠

௭ି௕
 

25) 4𝑥 = −4𝑟 + 2𝑑, for 𝑑 

a. 4𝑥 + 4𝑟 = 2𝑑 

b. 𝑑 =
ସ௫ାସ௥

ଶ
= 2𝑥 + 2𝑟 
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26) Daniel completed 180 questions in 9 minutes.  How many questions can Daniel complete 

in one minute? 

a. Identify the variable: 𝑥 = number of problems in 1 minute 

b. Create the equation: 180 = 9𝑥 

c. Solve the equation: 180 = 9𝑥 

i. 𝑥 = 20 

d. Answer the question: Daniel can complete 20 questions in 1 minute. 

27) A paper company is delivering 384 cases of paper today.  8 trucks are being loaded with 

an equal number of cases of paper.  How many cases will each truck carry? 

a. Identify the variable: 𝑦 = number of cases in each truck 

b. Create the equation: 8𝑥 = 384 

c. Solve the equation: 8𝑥 = 384 

i. 𝑥 = 48 

d. Answer the question: Each truck will have 48 cases of paper. 


